
Warm-up:  put at top of today’s assignment

Write the first 8 terms of the 
given pattern:



Round off to the 
nearest millionth !

Warm-up
(put at top of today’s assignment)  



The answer for the first 8 terms:

2.718254



y = logx  common logarithm (base 10)

y = lnx natural logarithm   (base e)



e is often called Euler's number after 
Leonhard Euler, a famous Swiss 
mathematician from the 1700’s

Summation notation

Calculus notation







4.2 Notes:  The Natural Exponential Function

y = e

Sketc

   

h a graph of 

and y =   ex x
NOTES:

Domain

Range

Asymptote at y=0 

( , ) 

(0, )



4-2 notes:



Compounded:
Annually n = 1
Semi-annually n = 2
Quarterly n = 4
Monthly n = 12
Daily n = 365

4-2 notes:



Special Instructions for 4.2 #37a-c 
compare interest rate options by assuming 
a $10,000 investment earning interest for 
5 years.

versus



4.2 #25c and 29b 
use a graphing 
calculator or 
Desmos to help 
with your sketch

https://www.desmos.com/calculator


